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Note : (English Version)
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Question otted to students to read the question paper.
paper is divided :
Section (A per s divided in two sections — Section (A) and Section (B).
ection (A) q L
nd (B) are divided into three sub-sections (a), (b) and (c).

Questions in Section (A) are

m ] y ', f () Th [f ! CG.{OR]"
the correct circle in the ultiple choice type. Selecting correct choice, fully

OMR sheet. Only blue or black ball peint pen can be used.
I mark is allotted to each

questions question of Section (A) which contains only multiple choice

In Section (B) questions are descriptive.

Marks allotted to each question is given on the right side of the question.

(viti) It is necessary to answer all the questions of each sub-section of Section (B) altogether.

Each sub-section should be started on a new page.

(ix) All questions are compulsory.

SECTION (A)
Sub-Section (a)

Multiple choice questions

1.

A light ray passes through a point inside a lens without any deviation. That

point of the lens will be its : 1
(A) focus (B) centre of curvature
(C) optical centre (D) None of the above

A light ray passing through the centre of curvature of a concave mirror is
incident on the mirror surface. Value of the angle of reflection will be : 1

(A) 60° (B) 90° (Cy 0° (DY 120°

A person having normal eye can clearly see an object, if the distance of the object
from the eye is : 1

(A) in between 50 cm and 100 m (B} in between 25 ¢cm and infinity
(C)  in between 100 cm and 1000 m (D) in between 25 em and 150 em

In a circuit, keeping potential difference constant, resistance in the circuit is
tripled. Current in the circuit will become :

(A) three times (B) one-fourth
(C) double (D} one-third
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8. In a house, electricity is supplied at 200 volts. Two electric bulbs of resistance
100 2 and 200 ) are used daily in the house for 1 hour. Daily consumption of
electric power ig :

(A) 500 Wh (Bl 600 Wh (C) 300 Wh (D) 800 Wh

6. Focal lengths of both a spherical mirror and a lens are — 25 cm. Most probably
the mirror and lens are -

(A)  mirror convex and lens concave
(BY  mirror concave and lens convex
(C) both convex

(D)  both concave

7. In an electrical circuit, three resistances of 20,40 and 6 Q are connected in
series. A current of 2 A is flowing in the circuit. The potential difference at the
ends of these resistances will be in the order :

(AL 4V, 8V, 12V (B) 6V, 8V, 12V
(C) 4V, 8V, 10V D) 2V,6V, 8V
Sub-Section (b)

8. Thereaction Zn+H,S0, —— ZnSO, + H," isa:

(A) Combination reaction (B} Displacement reaction

(C)  Decomposition reaction (D) Double displacement reaction

9. Common name for N 32003 18 :

(A)  Bleaching powder (B) Baking powder
(Ck  Washing soda (D) Plaster of Parig

10.  Alkali metal among the following is :

(A) Na (B) Fe (C) Mg D Ay
824 (EM) 8



11. Match the compounds g‘lv&n in Cnlumn A wu.h their examples in Column B.

Column A Column B
R ) ~
H H Il
a, Haloalkane .. H- (I - (l - (‘ - 0OH
H H H
ll H l!
b. Alcohol 1. H_{ _( _( -]
II H H
H H
I /H
c. Ketone m H-C=-C=C
! ~H
H
|
I i 1
d. Alkene iv. H —[ -( —(‘ H I
| H (} H
(AY a-ii,b-ic-iv,d-iii (B a-ii,b—iv,c—1,d—1ii
(C) a-iii,b-iv,c-ii,d~1i (D) a-iii,b-i,c—iv,d —1ii
12. Alkali metals are :
(A) Be, Mg, Ca (B) Li, Na, K
(C) B,AlGa (DA Cu, Ag, Au
13. The general formula for alkyne is :
(A) C H,, (B) C, Hy,\0
(€1 €, Hypy (D) Cy,p Hy,
Sub-Section (c¢)
14. The water and minerals absorbed by roots are transported in plants by :
(A} Xylem (B) Phloem (C) Stomata (D) Cambium
15. In healthy human, the normal Blood Pressure (B.P.) is :
(A) 140/90 (B) 140/100 (Cy  120/80 (DY 150/85
824 (EM) 9
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18. Which one of the following is the best example of homologous organs ?
(Al Wings of bats and birds
(B) Wings of birds and forelimbs of mammals
(C) Wings of birds and insects
(D) Wings of insects and bats d
. ] . tall stem an
17.  As per Mendel, which one of the following genotype will express 1
wrinkled seeds in peas ?
(A) TTRR (B) ttRR (Cy TTrr (D) ttrr ;
18. Asexual reproduction by binary fission takes place in :
(A) Amoeba (B) Plasmodium
(C) Bryophyllum (D) Potato .,
19. In order to protect the forest wealth, the famous “Chipko Movement™ W28 ;
organized by local people in :
(A} Garhwal area of Himalayas (B) Aravali area of Rajasthan
(C) Nilgiri area of South India (D) Madhya Pradesh
20. Gastric glands are present in : 1
(A) small intestine {B) stomach
(C) pancreas (D) large intestine
SECTION (B)
Sub-Section (a)
Descriptive questions
91¢ How many types of spherical mirrors are there ? Write their names. Give the
definition of centre of curvature and principal axis of a spherical mirror. Focal
length of a convex mirror is 30 cm. An object of length 5 em is placed in front of a
mirror at a distance of 30 cm. Find the position, size and nature of the image. 1+3
92. Explain the power of accommodation of eye. Draw a ray diagram for image
formation by a convex lens when (a) object is at a distance of 2f, (b) object is in
between 2f and infinity. 24141
23, Mention any two advantages of parallel combination of resistances. In the given
circuit, find the value of current in each resistance and the total current in the
circuit. 242
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g4. Explain the meaning of eloctromagneuc induction. Mention any two meth_uds for
producing induced current in a coil. State Fleming’s right hand rule for finding

the direction of induceqd current. 24242

OR
What is the use of an electric motor ? Discuss the construction, working principle

and working of an electric motor with the help of a labelled diagram. 145

Sub-Section (b)

26. (a) Balance the following equations : 2
(i) H,S0, (aq) 4NaOH (aq) —— Na,80, (aq) R H,0 (1)

(iiy  MgCl, (aq) +2AgNO, (aq) ——— MgNO, (aq) + AgCl (g)

(b) (i) Write the name of reactant and product for the reaction

Zn + H,80, ——— ZnSO, + H‘ZT

(11) Write the reaction for thermal dissociation of ammonium chloride and

name of the substances formed. )
28. (a) Write JUPAC names for the following compounds : P
H H
! !
(iy, H-C=C-C-H
(N
H O H

H }]I }ll HHI

| | L |
(i) H‘(I'“(,""ﬁ'-(f{l'_q_(m
HHHHEHEH

(b)  Write the atomic number and valency of the following elements -

r

(i) Oxygen
(ii)  Potassium
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28,

31.

Write notes on the following : 2x3=6
(a) Addition and substitution reactions
(b) Micelle

(¢}  Neutralization reaction
OR

() Write two uses of Bleaching Powder
(b) What is corrosion ? Write two methods for its prevention.

(c) Write one use of Plaster of Paris. 24341

Sub-Section (c)

What is digestion ? Describe the process of digestion in humans with diagram. 1+3

Write short notes on any two of the following : 2+2
(a) Fission

(b) Regeneration

(¢) Budding

What are fossils ? Explain their role as evidence for organic evolution. 143

What do you mean by alternative (non-conventional) or renewable energy

sources ? Describe any three renewable energy sources in detail. 2+4

OR
Describe in detail the process of transportation of water, minerals and food in
plants. 3+3
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